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HEEER English Translation

To pile sand

Key word
- corn * volume - circumference ° height

Sand is piled on a level ground.

The circumference of the base is 376 and the height is 8akugsun,
We would like to know the volume of sand.

To that end, I do it as follows.

First, the circumference of the base is squared.

Second, it multiplied by the height of the corn.

Third, it divided by 3 is 37.704.

Fourth, 295607489 divided by 37.704.

Finally, the number that appeared with fourth divided by 6482subo7bu
of Sekiho is 45koku5roQshoQgofshaku,
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We find the volume of corn by the way of calculation which isn‘t used in now in this
book of Japanese mathematics.

In addition the way to find the volume without metering tools is written in this book.
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+ We have to correct modern language as near as possible modern language translation.
+ We have to summarize the contents which we can understand for mathematics way.

HEHANE Mathematical Contents
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HEEER English Translation

(3jou 6shaku)2 X Bshaku 6sun

37.704

3
295607¢subogg

37704 ~ p482tsuboybu — gokokugtogshoggogshaku

How to calculate of volume of corn.
1

Fxmx (radius)?x height
Therefore, % nr?h

But, in this question
2=1855
circumference? X height

=37.704- - - D

3
(2XmXradius)? X height=29560751089 « « - 2
® divided by .

295607515989 _ mxheightx(radius)? | | ®

37.704 3
@ divided by 6482:sub7bu

Result is 45kokusogsyouggosshak. #REH-FIRB
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There were no formulas to find the volume of corn before, so we
understood that ancient people try to find with difficulty.

Because there was not the person who did it before, we had a hard time
by a start from 0, but we finally cooperated and could be completed and
felt sense of accomplishment.
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